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T

commandwindow
clear

clc

close all '5
syms t 1
y § (50/0.05) +((50/1.0025) *sin (t))+(((50%(0.05))/1.0025) *cos (t)
ym £ 1000- (800%exp (-0.05*t))

oddValues % 1B gm0 11

evenValues = 2:2:500

ym £ double (subs(y, oddValues))

ymm = double (subs(ym, evenvalues))
totTime = 1:1:500

T e

timeTrans = totTime'

—

C = reshape([ym,ymm], [],1)
combVal = double (c)

plot (totTime, c)
grid on

grid minor

xlﬂhel{‘?;:ii]'}; Ylabel{‘?{;ith:'}
ol header = {'¢(min)"', ‘ViLitre)™ )

eEsdata -

xiswrite['codevbhesda .Am?x',gqlhgeage:,j?ggilgr[,'Az'l

Xlswrite| 'odevhesdar
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